@ m @ @ J Exponentes negativos de 10

Nombre: Fecha: Puntuacion:
190,7 + 1072 = 219 x 10°% =
354 x 10071 = 1071 =
103 = 100 =
1072 = 613,1x 1073 =
428,5+ 1073 = 1004 =
100D = 1003 =
351,3 x 100 = 741,8 x 100 =
1071 = 734,2+ 107% =
1009 = 1002 =
7107 = 629 x 100 =
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@ @ J Exponentes negativos de 10

Nombre: Fecha: Puntuacion:
190, 7 + 107 = 19070 219 x 107 = 0.0219
354 x 100 =354 1077 = 0.1
107 = 0.001 107 = 0.0001
1072 = 0.01 613,1 % 107 = 0.6131
428,5+ 107 = 428500 107 = 0.0001
1077 = 0.1 107% = 0.001
351,3 x 107 = 0.03513 741,8 x 107°) = 0.7418
1077 = 0.1 734,2 + 107 = 7342000
107 = 0.0001 1072 = 0.01
7% 107 = 0.007 629 x 107 = 0.0629
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